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SMP	
  Objec1ves	
  
•  Sharing	
  of	
  protec1on	
  resources	
  
•  Rapid	
  failover	
  (op1mized	
  for	
  packet)	
  
•  Reliable	
  message	
  exchange	
  
•  All	
  corner	
  cases	
  covered	
  
•  Back	
  out	
  on	
  failure	
  of	
  protec1on	
  
•  No1fica1on	
  to	
  unprotected	
  LSPs	
  
•  Re-­‐use	
  of	
  exis1ng	
  protec1on	
  mechanisms	
  where	
  
possible	
  



What	
  is	
  SMP?	
  
(Required	
  per	
  MPLS-­‐TP	
  Requirements	
  (Req	
  68,	
  69,	
  RFC5654))	
  

The resources on P-Q-R are 
shared by multiple working 
LSP’s 

•  Key	
  proper1es:	
  
1.  Protec1on	
  LSPs’	
  are	
  pre-­‐established.	
  
2.  Protec1on	
  switching	
  priority	
  is	
  

assigned	
  for	
  each	
  protec1on	
  path	
  
(need	
  to	
  be	
  known	
  by	
  shared	
  
nodes).	
  

3.  Upon	
  failure,	
  a	
  working	
  LSP	
  can	
  be	
  
protected	
  based	
  on	
  the	
  priority.	
  
1.  It	
  may	
  pre-­‐empt	
  the	
  other	
  LSP’s.	
  
2.  Unprotected	
  LSP’s	
  are	
  no1fied.	
  



Corner	
  Cases	
  to	
  be	
  Covered	
  

•  Race	
  condi1on	
  
–  P	
  and	
  Q	
  receive	
  requests	
  from	
  
different	
  LSP’s	
  having	
  same	
  
priority.	
  

–  P	
  and	
  Q	
  should	
  decide	
  how	
  to	
  
resolve	
  it.	
  

•  Unnecessary	
  service	
  
interrup1on	
  
–  P3	
  and	
  P4	
  should	
  not	
  
be	
  interrupted	
  by	
  P2	
  
which	
  will	
  be	
  rejected	
  
by	
  Q.	
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